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QUESTION 1

If data value AEJPA 5342G is investigated using an all-C mask, what would the result look like?
A. AEJPA G

B. CCCCBCCCCC

C. AEJPA 5342G

D. AEJPA XXXXG

Correct Answer: C

QUESTION 2

What does the informational content of a QualityStage Match phase measure?
A. The severity of false positives and false negatives.

B. The significance of discriminating value and frequency.

C. The degree of importance of a particular data field.

D. The confidence of a match.

Correct Answer: B

QUESTION 3

Which of the following statements is TRUE?

A. Character Concatenate Investigate uses Standardization Rule Set.

B. Character Concatenate Investigate uses Survive Rule Set.

C. Character Concatenate Investigate uses both Standardization and Survive Rule Sets.
D. None of the above.

Correct Answer: D

QUESTION 4

When using QualityStage Survive Stage, target fields of the "best" record are constructed with fields from different
records when the records

A. meet the conditions of the survivor rules explicitly and implicitly exclude target fields that have no rules.
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B. meet the conditions of the survivor rules explicitly and implicitly include target fields that have no rules.
C. meet the conditions of the survivor rules explicitly and have data values.
D. meet the conditions of the survivor rules explicitly and have the longest string.

Correct Answer: A

QUESTION 5

Which of the following is TRUE regarding the use of Survive Rules?

A. Survive Rules contains one or more targets.

B. If any survive rule could not select a record, the firstrecord is selected as the best record.
C. If any survive rule could not select a record, the last record is selected as the best record.
D. All of the above.

Correct Answer: A
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